Date: Date: Date: Date:

Score: Score: Score: Score:

1) 3452 + 4974 = 1) 74162 - 3421 = 1) 54742 + 22691 = 1) 8421x9 =
2) 9427 -651 = 2) 27461 = + 12592 2) 31799 = 67924 - 2)7251x13 =
3)4376=4000+ __ +70+6 3) 5124 =500 + +4 3) 24399 = +300+90+9 3) 9647 x 41 =
Challenge: Challenge: Challenge: Challenge:

Divide your answers by 1000.

Draw a bar model to show
3 0f 96
8

Create a story that represents
guestion number 2.

If I know 14 x 352 = 4928. How can |
use this to solve the calculation
15 x 352?




